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”
Nula a goniometrické mǒre.“
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K čemu je dobrý sinus?
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Přibližná hodnota sin 22.

sin x =
∞∑
n=0

(−1)n
x2n+1

(2n + 1)!

sin(22) = − sin(22− 7π)

.
= −(22− 7 · π)

.
= −(22− 7 · 3, 14159) = −0, 00887

sin(22)− (−0, 00887)
.

= 0, 0000187



K čemu je dobrý sinus?

Definice funkce sinus.
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K čemu je dobrý sinus?
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”
Strach z výšek.“
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1
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Aproximace signálu.

f (x) :=
1

150
x2(x − 2π)3(x − 1)2 sin(3x)

.
=

a0

2
+

6∑
n=1

(
an cos(nx) + bn sin(nx)

)
.

f ≈ [−0, 1;−0, 71;−0, 1; 1, 74; 2, 38; 0;−4, 43;−1, 74; 2, 38; 0, 68;−0, 11; 0, 1;−0, 03]
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K čemu je dobrý sinus?
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